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Subject Code: AAS0204         Max. Mks. :  30

Subject: Mathematical Foundations – II         Time          :  50 Minutes

General Instructions:

All questions are compulsory.

Question No. 1 to 15 are subjective type question carrying 3 marks each. Attempt any 10 out of 15 questions.

Q.No
Question 

Content
Question Image Category

Sub 

Category
Marks

Options 

Randomization
Type Difficulty

1
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

2
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

3
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

4
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

5
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant
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Q.No
Question 

Content
Question Image Category

Sub 

Category
Marks

Options 

Randomization
Type Difficulty

6
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

7
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

8
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

9
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

10
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

11
Attempt any 

10 questions
10 x 3=30 3 Subjective Smart

12
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

13
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

14
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

15
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

If A $ B means A is the brother of B; A @ B means A is the wife of B; A # B 

means A is the daughter of B and A * B means A is the father of B, which of the 

following indicates that U is the father-in-law of P?

There are two containers of equal capacity. The ratio of milk to water in the first 

container is 3:1, in the second container 5:2. If they are mixed up, then find the ratio 

of milk to water in the mixture?

Divide ₹ 600 among A,B and C so that ₹ 40 more than 2/5th of A's share, ₹ 20 more 
than 2/7 of B's share and ₹10 more than 9/17th of C's share are all equal. What is 
A's share?


